	Question
	Answer

	1 (a)
	Mrs Beckham:

Gross Monthly Salary= £3583.33

Total Deductions= £903.30

Net Pay= £2680.03

Mr Beckham:

Total Basic Pay= £840

Overtime rate=£10.50

Overtime Pay= £210

Total Gross pay= £1050

Total deductions= £310.80

Net pay= £739.20



	1 (b)
	£3419.23

	2(a)
	£1929

	2(b)
	£1490.23

	3
	Company C is the best value for money as £963.90 < £116.50 and £1134.50

	4 (a)
	€1536.00 (must have €)

	5 (a)
	Loan Payment option 1= Monthly repayment is £280.50
Loan Payment 2= monthly repayment is £527

	5 (b)
	The option they chose depends on their financial situation. If they chose option 1 they have to pay more back overall. Their monthly repayments are however smaller. I would however recommend loans option 2 as it means they don’t need to pay as much back overall. (Must recommend one)


Assessment title: The Beckham Family Earnings
